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211. For BC and Alberta separately, provide a forecast of the annual incremental revenues that would be generated in each of the years 2002 through to 2005 assuming that TELUS fully exercised the high-cost band residential service pricing flexibility requested in its price caps proposal.  Provide a full explanation of the assumptions used to calculate the forecasts.

ANSWER

No annual incremental revenues would be generated in any band, except Band F for TCI, [see interrogatory response TELUS(Calgary)26Jun01-16] because any rate increases would be offset by an equivalent reduction in contribution and the effect would be revenue neutral.  It is not possible to predict the annual incremental revenues that would be generated in Band F, once the rate exceeds $31.75, because TELUS cannot accurately predict the degree of competitive entry and its effect on TELUS’ projected revenues in this band.







